ETNSTC/ETNSTCL/ETNSTCLF
Installation Manual

k.
Py |
“1::5%::1’ ;

S

o7
SKIPPER Electronics AS www.skipper.no
Enebakkveien 150 Telephone: +4723 3022 70 Document no: DM-BETNSTC-SA
P. O. Box 151, Manglerud E-mail: support@skipper.no Edition: 2019-03-25
Co. reg. no: NO-965378847-MVA Rev 1750

0612 Oslo, Norway



SKIPPER Electronics AS

ETNSTC Combo Tank Steel Installation Manual

Weitergabe sowie vervielfdltigung dieser unterlage,
verwertung und mitteilung ihres inhaltes nicht gestattet,
soweit nicht ausdriicklich zugestanden. Zuwiderhandlungen
verpflichten zu schadenersatz.

Toute communication ou reproduction de ce document,
toute exploitation ou communication de ou son contenu sont
interdites, sauf autorisation expresse. Tout manquement a
cette régle est illicite et expose son auteur au versement de
dommeges et intérets.

Copying of this document, and giving it to others and the use
or communication of contents thereof, are forbidden without
express authority. Offenders are liable to the payment of

damages.

Sin nuestra expresa autorizacion, queda terminantemente
prohibida la reproduccion total o parcial de este documento,
asi como su uso Indebido y/o su exhibicion o comunicacion
a terceros. De los infractores Se exigira el correspondiente
resarcimiento de dafios y perjuicios.

Edition: 2019-03-25

Page 2 of 17



SKIPPER Electronics AS ETNSTC Combo Tank Steel Installation Manual

Contents
1. GENEIAl INFOIMATION ..ttt se s sss s sssasassesssssasasasnes 4
2. CoOMDBDO TraNSAUCET TANK . .ovviieecreictcr it s s ssss s sssssassesssssssasssssasases 6
3. Welding Guidance COmMBO TanK .......encereneseseesssssssssssssssssssssssssssessns 7
4. Cable Pipe for TranSAUCET TANK......cceeeeeeeeeeeesiesciesesssessesssssesssssessesessessssssessssssesaees 8
5. TraNSAUCET MOUNTING ..ottt s sssssssssasssssssssssassassssssssssssssessassassessessansans 9
6. 200 KHZ Transducer in ETNSTC ... eccrceeeesesesessissssssesssssssssssssssssssssssssssssssenes 10
7.50 KHZ Transducer in ETNSTC ... cceeciecsesseesesesesssssssesesssssssssssssssssssssssssssaces 11
10. 24/38 kHzZ Transducer in ETNSTCLF ...t sssesssesessssssssssessans 12
12.60MM SENSOT IN ETNSTCL ueeeeeetcreeeterercessesesesesssesesesessssesesessssssesesessasasesens 13
13.100MM SENSOF IN ETNSTCL ...ttt ssesesesessssesesessssssesesessssasesene 14

Edition: 2019-03-25

Page 3 of 17



SKIPPER Electronics AS ETNSTC Combo Tank Steel Installation Manual

1. General information

The SKIPPER ETNSTC Combo Tank is used for installation of:
1. Echo Sounder transducer type (24, 38, 50 and 200 kHz).

2. Speed Log sensors 100mm.

3. Speed Log sensors 60mm.

Caution!

Be aware that the sensor/transducer contains high precision parts and therefore proper
handling when mounting is essential for the final result.

When handling the Tank. all lifting devices must be attached on the outside of the Tank.
It is very important to not insert anv chains. wire, rope or anv other device into the
Tank chamber. This to avoid damaging and any kind of pollution of the Tank

The SKIPPER ETNSTC Combo Tank is delivered final assembled. The parts necessary for the sensor and
transducer mounting will be found packed with the sensor/transducer. First of all, it must be decided where
the Tank should be installed. Normally, this will be in the fore part of the ship, in the centerline, or as close
to the centerline as possible. Optimal system operation is achieved by fitting the sensor/transducer as deep as
possible on the hull.

» The active surface of the sensor must be installed with front face a maximum of +/-1 degree to the ships
horizontal plane. (Speed Logs)

* The active surface of the transducer must be installed with front face a maximum of +/-7 degree to the
ships horizontal plane. (Echo Sounder).

Do not mount sensor/transducers close to the bow thruster propeller outlets, or aft of other hull installations
(outlets, vents or other protruding details) who may create aeration or turbulence.

It is necessary to select a part of the hull that is submerged and free from turbulence and aeration under all
load and speed conditions, and to avoid positions where air is trapped in heavy weather.

If a flat, horizontal section is not available for the sensor/transducer fitting, the shipyard must construct
a suitable bed. Welding seams in this area should be smoothed and rounded off, in order not to create
turbulence or aeration at speed.

Protect the active element of the transducer/sensors during transport and installation, and
do not paint the surface.

Edition: 2019-03-25 Page 4 of 17



SKIPPER Electronics AS ETNSTC Combo Tank Steel Installation Manual

Important

”Sensors for Speed Log and Echo Sounder are delivered with a fixed cable. Needed attention must be
taken to allow easy replacement/pulling of new cable during maintenance”.

SKIPPER Electronics AS will reccommend installation positions if GA-drawings (General
arrangements), lines drawings and frame drawings are made available for study.

Condition.
The welding to hull structures and structural support of the items may be subject to separate approval by
classification societies for each installation on board a ship.

» Standard welding practice, methods and procedures should be observed, but may vary. (See welding
notes).

WELDING NOTES!

All bottom parts and flanges for welding are precisely machined parts. During welding of these parts
to the ship’s hull plates, careful attention must be paid to avoid construction strain on the bottom
parts and flanges.

e Let parts cool down during welding.

* Over heating may change fit and form and result in non-conformity with intended sensor/
transducer.

*  Welding to thick hull steel plates will exert high stress on bottom parts and flanges.

* Especially care must be taken during welding of stainless steel flanges.

*  Work must be performed by a qualified and certified welder.

Edition: 2019-03-25 Page 5 of 17



SKIPPER Electronics AS ETNSTC Combo Tank Steel Installation Manual

2. Combo Transducer Tank

sy

| RevNo| Revision note | | Date |Signa’rure| Checked
A A
P65
$35:+0.2
B B
n - N
& =)
S \
) S —
‘
‘ 3/L"R g 20
&
R
g 17,6
Tﬂ_ JR
D D
?219 1x
x  Naofe due to surface machining, the diamefer may
] vary between 217 and 219,1 -
E E
] Material: ST 52 3N L
Surface Treatment: Flugger 1240 Industriprimer. Colour: Red
Gen. folerance: +0.5
Itemref | Quantity [ Title/Name, designation, material, dimension etc Article No./Reference
Besigned by Checked by Approved by - date File name Date Scale
F AM VF $G-2004/02/05 2010.02.12 F
_ Transducer Tank Combo
SKIPPER Elecfronics AS ot
TC-2002-Rev-03 (Customer only)
11
17
1 L [ [ [ | I L

Edition: 2019-03-25 Page 6 of 17



SKIPPER Electronics AS ETNSTC Combo Tank Steel Installation Manual
3. Welding Guidance Combo Tank

P

| RevNo| Revisian note | Date |Signafure|thecked

Max 1° for Speed Logs | Ahead |
Max 7° for Echo Sounders | £ |
| N~\I
‘ 50 kHz 200 kH

A i | - / S A
| ‘ = Ol ‘
\ =, & \
= ‘ = | Protruding K Build a streamlined blest |
Flush Flush ‘ I ul a streamtine es EF‘

Utstikkend
] | _rstikende  aroundthefank L
T
B B

Material Tickness Top and Sides: 20mm
Materialtykkelse topp og sider: 20mm

\ 7]
C |
= R0 S

[
Shell: 20 - 30mm Shell: Thicker than 30mm
Hud: 20 - 30mm Hud: Tykkere enn 30mm

)

D | |

Weld the Tank according fo procedure as shown

Flush Use low-Hydrogen elecfrodes, e.g OK 4800. In order fo avaid
contraction strain, hammer each Welding seam before applying
— next. Alloaw the Tank to cocl down during welding. —
b 5 DO NOT HAMMER THE LAST WELDING SEAM!

Grind flush all Weldings within 5Min front of, and 3M fo fhe

1 6 side of the Transducer. Finally, paint the Transducer Tank inside
and outside with a non-corracive coating

Sveis fanken i henhold til viste prosedyre. Bruk lavhydrogen E
elektroder, f.eks. OK 4800.

For 3 unngd krympespenninger mest mulig, hamres hver sveisestreng
for neste legges, ag tanken holdes s3 kald sem mulig under sveising
SISTE SVEISESTRENG MA IKKE HAMRES!

Welding sequence Planslip alle sveisessmmer innenfor ef areal av 5M i front og 3M fil
Sveise rekkefalge hver side for svingeren. Til sluff males svingertanken utvendig og
innvendig med korrosjonshindrende maling

Itemref | Quantity | Title/Name, designation, material, dimension etc Article No./Reference

Designed by Checked by Approved by - date File name Bate Scale
F AMatre 2007.10..16 F

Installation and welding guidance for Tranducer Tank

SKIPPER Electronics AS

Edition | Sheet
TB-3001-Rev-03
N 12.05.24 | 11
1 L [ ] L [ [ | A

Edition: 2019-03-25 Page 7 of 17



SKIPPER Electronics AS

ETNSTC Combo Tank Steel Installation Manual

4. Cable Pipe for Transducer Tank

1 \ 2 | 3 \ A
’ RevNo‘ Revision nofe ‘ ‘ Dafe ‘Signa‘rur%[hecked
(Ylﬁcrlduzjseudpipnlydeuver on ICE Tank) WATERTIGHT JUNCTION BOX MUST BE SITED FOR EASY
A y ACCESS IN AN EXPLOSION-SAFE PLACE, OVER MAX. WATHER LINE
VANNTETT KOPLINGSBOKS PLASSERES PA IKKE
EKSPLOSJONSFARLIG, LETT TILGJENGELIG STED, OVER MAX. VANNLINJE.
— STEEL PIPE, MIN. 35 mm DIAM. INSIDE.
ffffffffffffffffffff [T WALL THICKNESS:
- GALVANIZED PIPE: MIN. 8 mm
- BLACK PIPE:  MIN. 10 mm
QUALITY OF MATERIAL:
- STATED IN VERITAS CHAP. X. PARA. 7A, TYPE Il
FIXING CLAMPS THE PIPE TO BE WELDED BEFORE PULLING THE CABLE
B FESTEKLAMMER EXPANDING POSSIBILITIES MUST BE ARRANGED.
MAXIMUM DISTANCE BETWEEN PIPE CLAMPS, 25 X PIPE DIAM.
| 2 STALR@R, INNV. DIAM. MIN. 35 mm
Yard Supply =zl & VEGGTYKKELSE:
= = - GALVANISERTE RZR: MIN. 8 mm
wl 25 - SVARTE R@R: MIN. 10 mm
= ns MATERIALKVALITET:
] <l z% - SE VERITAS REGLER KAP. X. PARA 7A, TYPE Ill
w| 82 RORET SVEISES INN MED TILSTREKKELIG EKSPANSJONSMULIGHET,
x| EB FOR KABELEN TREKKES.
g g9 MAKS. KLAMMERAVSTAND PA RBRET, 25 X RORDIAM.
FIXING CLAMPS
C FESTEKLAMMER IO[
L~
;/
b 35
ar
) L
J0
// //7
' | &
N
E ‘
Note:
—] Cable gland must nof be mounted
inside the ICE Tank.
Designed by Date Scale Checked by Approved by - date
F AM 2007.12.18 VF
' ‘ Cable pipe for Transd.Tank Steel
Sklpper ElECfI"ODICS AS TA-3004 Revision |Edition date| Sheef
NP - 01 2013.05.07 | 1/1
1 L [ [ [ ] I I A

Edition: 2019-03-25

Page 8 of 17



SKIPPER Electronics AS ETNSTC Combo Tank Steel Installation Manual

5. Transducer Mounting

1 | 2 | 3

| RevNo| Revision note | | Date

|Signafure| Checked

A Provide approx. 3/4m of Cable befween Cable Gland A
and the Transducer Element.
Serq for at kabellengden mellom kabelgjennomfaring
og svinger er ca. 3/4m
T T
Tube, Aluminium \ /
Rer, Aluminium |
B Ref  TCA-2075 . /)\ B
Tube, Steel '
Ror, Stal
Ref. TA3004 H
. sl -
C 1| \ C
7
A | gik S /T d El t
7 ensor/Transducer Elemen
H é with Cable
\Jﬁ Svingerelement
! med kabel
Nr ; Mounting Ring
| Maontasjering
Washer, stainless — Skive, rustfri ‘ '
L Allen Screw M8x16 DINS1Z.
D Rubber Gasket Gummipakning Apply with lead or sim. on D
Threads
Washer, stainless — Skive, rustfri
Sylhode skrue M8x16 BIN12
Packing Nipple Pakknippel Pafar blyhvitt el.lign. p& gjenger

_ ;
: g :
Special Wrench/Tool for

tightening of Packing Nipple Allan key 6mm

Nokkel 6
Spesialverktey for stramming priet omm

av pakknippel.

Itemref | Quantity | Title/Name, designation, material, dimension efc Article No./Reference
Designed by Checked by Approved by - date File name Bate Scale
F AM VF 2007.12.18 F

_ _ Mounting of Transducer
Skipper Elecfronics AS

TB-3003-Rev-01 Edition | Sheet
N4

1 ry - rrr L

Edition: 2019-03-25 Page 9 of 17



SKIPPER Electronics AS

ETNSTC Combo Tank Steel Installation Manual

6. 200 kHz Transducer in ETNSTC

o

| 2 | 3
| RevNo| Revision note | | Date |Signafure| Checked
Assembling order Assembled
A N A
T
Pos.(1) og (2) premounted Units 935
B B
A A
4 B 4
| 4r \
—] @\ 2121 2 2\ 0 L
-~ o B =
| 1 7/ N
(6 x -
B
| (D C
‘ 7 U
‘ 4 2 \
22—
< } 1 - -
1 ﬁ 9219 ")
7 17
@ ‘ % % ‘ x NOTE: BUE TO SURFACE MACHINING, THE DIAMETER MAY VARY
.L ‘ BETWEEN 217 AND 213MM
Dl (30— | D
\ \
\ \
\ || \
ma] \
— \ 10 6 | Screw M8 x 16 DIN 912 St.steel A4 |
* \ 9 | 1 |Ring200kHzor 50 kHz TC-2005-Rev-01
| 8 1 | Transducer 200 kHz 25/40meter| ETN200F / (+X=40m.)
| _Ni -2013-Rev-
e iz o) 7 1 | PG-Nipple TC-2013-Rev-00
F i 6 2 | Washer M12 DIN 125 St.steel A4 F
@ 5 1 | Gasket SB-6029-Rev-00
f@ 4 1 | Ring200 kHz TC-2011-Rev-00
3 3 | Screw M8x100 DIN912 St.steel A4
2 1 | Main Adapter TC-2004-Rev-00
1 1 Transducer Tank Combo TC-2002-Rev-03
ITEM |QTY. DESCRIPTION Part.No. / MATERIAL
Itemref | Quantity | Title/Name, designatien, material, dimension efc Article No./Reference
Designed by Checked by Approved by - datfe File name Bate Scale
F AMatre VF SG-04.03.15 2007.1.22 F
_ 200kHz Transducer in TC-2002
SKIPPER Electronics A/S T
TC-0200-Rev-03 11
AN W4
L[] | | [ [ [ ] L

L 1

Edition: 2019-03-25

Page 10 of 17



SKIPPER Electronics AS ETNSTC Combo Tank Steel Installation Manual
7.50 kHz Transducer in ETNSTC

’> 1 | 2 | 3 | L -

| RevNo| Revision note | | Date |Signafure| Checked

Assembling order Assembled
A N A

?35

Pos.(1) and (2) premounted Units

<

T

210

@@? 9
A
I
/ ;
=43 nan
== 1%
L
2985
2685
—

i
C \
\
| % 7
| %
| il
<+ @
‘ — =
/ i
| I
T $219x
ZI 1%
@ ‘ |12 % % ‘ x NOTE: DUE TO SURFACE MACHINING, THE DIAMETER MAY VARY
D | BETWEEN 217 AND 213 MM D
L \
(3) |
|
|
] Ll | 10 6 | Screw M8 x 16 DIN 912 St.steel A4|
7 | 9 1 | Ring 50 kHz or 200 kHz TC-2005-Rev-01
| 8 1 | Transducer 50 kHz 25/40meter | ENTOSOBEL / (+X = 40m.)
@ =1 ——== | 7 | 1 |PG-Nipple TC-2013-Rev-00
E ; 6 2 | Washer M12 DIN 125 Ststeel Ad | -
5 1 Gasket SB-6029-Rev-00
@ g 4 1 | Ring 50 kHz TC-2010-Rev-00
[ 3 3 | Screw M8x100 DIN912 St.steel A4
2 1 | Main Adapter TC-2004-Rev-00
1 1 | Transducer Tank Combo TC-2002-Rev-03
ITEM |QTY. DESCRIPTION DWG.NO / MATERIAL
Itemref | Quantity | Title/Name, designation, material, dimension efc Article No./Reference
Designed by Checked by Approved by - date File name Bate Scale
F A Matre VF SG.04.03.15 2007.06.04 F

, 50kHz Transducer in TC-2007
SKIPPER Electronics A/S T v
TC-0050-Rev-02

4 m”

0 Yy [ 7 7k

Edition: 2019-03-25 Page 11 of 17



SKIPPER Electronics AS

ETNSTC Combo Tank Steel Installation Manual

8.50/200 kHz Transducer ETS50200 in ETNSTC

1 | 2

| : | ¢

Cable diameter 7mm

125
. ®28

100
. @60

58—

®90

43
9%

15
® 96

CN

Designed by - date | Approved by - date
5T 2017.02.07 XX Y MM.DD

T D

Material
As Parts

Electronics AS

hame

QOutline dimensions

Drwg. no.

ETS50200-SA

RareEion

1Y)

Chaty, oo Eur. prcjection Scok  |Edion dofe
IS0 2788m ﬂ_@ 121 [En7oe07

Sheet
1of1

Edition: 2019-03-25

Page 12 of 17



SKIPPER Electronics AS ETNSTC Combo Tank Steel Installation Manual

1 2 3 | 4
1 2 3 4
A A
B B
INSTKITTANK-7Tmm-SA
[+ [+ /
o o
POS. PART NR. DESCRIPTION arTy.
— 1 ETS50200-SA | Transducer 50/200kHz in 100mm housing w/25m cable 1
2 ETNSTCL Combo Tank with Adapter 1
3 ETS502008R Mounting Ring 50-200 kHz 1
4 Z0A-01016 Allen screw M8X16/912/A4 6knt 6
B |E 5 ETNAPL Adapter PP 50/200kHz TC-2005 1
B ZOA-01087 Rubber gasket @60 @62 x 1mm 1
7 ZOA01017 Bronze MNut, PG-Nipple TC-2013 1
8 DB-2018 Gasket @23,5 98 x 15mm 1
— q Z0OA-01009 Washer M12. DIN125A. A4. 4
CN
ST20180511 | GTo0180511 . | oremabee | NiA
Hame
T ETS50200 1 ETNSTCL Exploded
Dinivg. Mo Fedaior
Electronics AS mmm-ETSﬁDzaggl:iA Scos | Ecilion date SE}m
|1SCETSEMm | H_@ 2:3 | 20180621 2of2

Edition: 2019-03-25 Page 13 of 17



SKIPPER Electronics AS

ETNSTC Combo Tank Steel Installation Manual

FOS | FART NUMBER DESCRIPTION arTy.
1 | ETS50200-SA | Transducer 50/200kHz in 100mm housing w/25m cable 1
. 2 ETNSTCL Combao Tank with Adapter 1
3 ETS502003R Mounting Ring 50-200 kHz 1
4 ZOA01016 M8 x 16 DINS12 A4 6
5 ETNAPL Adapter PP 50/200kHz TC-2005 1
— 6 Z0A01087 Rubber gasket @90 862 x 1mm for ETS50200 1
CHN
STR17.1026  |GT2017.1025 | ke acemeg ™ | As parts
] m ETS50200-SA in ETNSTCL
Drwig. no. Eaniion
Electronics AS 5m_1mE|—350239l:1§n.A Scoke  |Eaiton dose s?i—
ISO2756m | H_@ | 1:2 171028 1af2

Edition: 2019-03-25

Page 14 of 17



SKIPPER Electronics AS

ETNSTC Combo Tank Steel Installation Manual

-

10. 24/38 kHz Transducer in ETNSTCLF

-

1 | 2 | |
| RevNo| Revision note | | Bate |Signafure| Checked
Assembling arder Assembled
A Cable diam.: 9.5, Length: 40m ~ A
rd T~ T
g 1 035
LH T
VS § 1}
™
B C D B
7| 12|
OF =T
i |
e I
1@ dbh 5
3 ‘ ~ g,
‘ gaZzN T &
9102 w s
C | . C
\
\
_3_ | o T -
| 3219
View A ‘ o117 EENTO\JEEESUZEWTENS[;J;F‘?M(; MACHINING, THE BIAMETER MAY VARY
o| (&) D
8 3 | Screw M8 x 100 DIN 912 St.steel A4
7 2 Washer M12 DIN 125 St.steel A4
E E
4 1 | Gasket SB-6029-Rev-00
3 1 | PG-Nipple TC-2013-Rev-00
2 1 Transducer Tank Combo TC-2002-Rev-01
®159 1 1 24 kHz Transducer ETN24M
T P181 1 | 38 kHz Transducer ETN38M |
ITEM |QTY. DESCRIPTION PartNo. / MATERIAL
Itemref | Quantity | Title/Name, designation, material, dimension efc Article No./Reference
Designed by Checked by Approved by - date File name Date Scale
F AMatre VF VF-2005.04.12 05.04.12 F
_ 24 /38kHz Transducer in TC-2002
SKIPPER Electranics A/S T oreer
TC-2438-Rev-01 171
N7
1 L [ [ ] L [ [ ] L

Edition: 2019-03-25

Page 15 of 17



ETNSTC Combo Tank Steel Installation Manual

SKIPPER Electronics AS

12. 60mm Sensor in ETNSTCL

8 _ L _ 9 [ ] [ T A T [ [T T 1 € 14 L
L 0 _ L0-A3Y-TWI-L ON Hed / ffHore NOILdIOSad ALO| WaLL “ON "Med / ON'Sma NOILIRIOSHA  [ALO|WHLI
984S | o3 S/Y S21U0J4I313 HI4dIMS TI6NIA 91 xsWmas [ 9 | 40 TOLSNLA/  -8107-OL |  1oidepy 'm syuey soonpsuery | 1 | 10
200Z-31 Ul JoSUsS %773 ' LSPTTTNE /  -TT0T-OL BuIsnop urJosudg yZCTNA [ 1 | 20
SL/€0/900T | W3 Biquassy SL/€0/%7002-4A EL 3eWY
?ers 3jeQ 3weu 314 ajep - £q parciddy Kq paxypay) Kq paubisaq
32U3.343/ 0N 3IHIY 3 P ‘|e1I3RW ‘Ualy p ‘aweN/ayiL [ Kyyueny | jauuay

W 61T ANV L1T NHIMLAE AAVA AV
MALIWYIA HL DNINHOVIN OVINS OL 9NA “HLON +

x6Leo

oLz

9’897

41y buryunaly ayy o} sbuojsg
CCT 3414307 Y4im pax30] 39 0|

51

Janddng Aq pajunows.ig

n
1
|
|
}
ull

pslquessy ¢

10SUBS UG u0l}1s0d moJly 8AIBSqQ

41y Buiyunoly ayy o4 sbuojag
T =]

—J

&)

[T

13 Sununojn

=
=

N
1

A
r

JapJeo bulqusssy 7

puelp s1ge] ayy

usyybiy uay

|
[

-

JBg UOISU3}XT ,Z/| PIRPURLS

AL

T v Buipiam 11nH Jaino jo buipuldg uadoud 3A43sqQ

6lid

7

M

B

1y burjunoly ayy o sbuojag

b e

‘Buip|am JoJ anjoud
U0I}38S SS0J3 ||NY BsSpuUsWwWodsy |

£

paxIay) _m.__:mcm_w_

3jeq _

340U UoISIABY _oz>mx _

8 _ L

9 _ S

7

_ 14 _ I

Page 16 of 17

Edition: 2019-03-25



ETNSTC Combo Tank Steel Installation Manual

13. 100mm Sensor in ETNSTCL

SKIPPER Electronics AS

8 _ L _ 9 [ ] [ 1 [ [ T 1T 1 £ Z L
W o_ P ON Hed / fHorep NOLLIRIOSAA _ [ALO[WALI[ [ ON ‘Hed / ON‘Ema NOILdNOS3A _ [ALO[WALL
1584 | o3 S/V S$31U0J12313 ¥YIddIMS vV 1991878 TI6NIQOI XN »aRS | 9 | 50| [ TOLSNIA/s-810c0L | oidepy “m yuepsonpsueil [ 1 | 10
. 1S 0LT1A / + -L102-0L Bulstop "M 1025 0,71 | 1| 20

¢00¢-JL urJosuss 1S0L¢1d

47€090 AMEWY
3 3s 3jeq 3weu 34 3jep - Aq pancuddy Kq pay3ay) £q paubisag
33UBI3J3Y/ N IPHIY 343 uo! Ip ‘|els3jew ‘uoijeubisap ‘aweN/3p4lL | Ayijueny | Jauway

AMYA AVM H31IAVIO JHL ONINHIYW 3274405 OL 300 310N =

WW6LZ ANY LIZ NI3MLIE

*x 6T @

Z

0z

5'892

2

5’867

<>/

J0SU3S U0 uoljisod MaJly FAJ3SqQ

SEQ I I

Janddng Agq pajunowsid

porquessy ¢

)

N
&/
!7771777777‘\

11y Buipunol ayy of sBuojsg
CTT 34307 Y4im paxdoyaq o]

11y Burpunopy 3y} oy sbuoyag

—J

(%)
TOo0tT |

13} Sununojy

=
]

\L/

\wwzg )

Buipiam nnH Jainc jo Buipuldy Jadeuad 3AJasqp

JapdJo bunquassy 7

pue| 31923 Y4
U3yl uaym

Jeg uolsus X3 ,7/| pJepuRlS
11y Burjunoly a4 o} sbuojag

IPESYY

o

Buipiam Joy 3)1y0ud
U013 $SCJD Ny pepuswwoiay |

4

payIaY3Y _m.__:m:m_m_ 3jeq _

30U UOISIARY _oz>mm _

8 _

L 9 [

S

Page 17 of 17

Edition: 2019-03-25



	1. General information
	2. Combo Transducer Tank
	3. Welding Guidance Combo Tank
	4. Cable Pipe for Transducer Tank
	5. Transducer Mounting
	6. 200 kHz Transducer in ETNSTC
	7. 50 kHz Transducer in ETNSTC
	10. 24/38 kHz Transducer in ETNSTCLF
	12. 60mm Sensor in ETNSTCL
	13. 100mm Sensor in ETNSTCL

